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QUESTION 1

Which of the following are acceleration scenarios supported by HUAWEI CLOUD CDN? (Choose all that apply.)
A. VOD acceleration

B. Website acceleration

C. Download acceleration

D. Whole site acceleration

Correct Answer: BC

Reference: https://www.huaweicloud.com/intl/en-us/product/cdn.html

QUESTION 2

When the capacity of the cloud hard disk is insufficient, which of the following solutions are available?
A. Clear the space of the cloud hard disk

B. Purchase a new cloud hard disk and mount it to the cloud server

C. Expand the original cloud hard disk capacity

D. Set the cloud hard disk as a shared disk

Correct Answer. ABC

QUESTION 3

An EVS disk can be attached to a cloud server that comes from a different AZ as the EVS disk.
A. True

B. False

Correct Answer: B

Reference: https://support.huaweicloud.com/intl/en-us/evs_fag/evs_faq_0036.html

QUESTION 4
Which of the following statements about public clouds is false?
A. A public cloud can have a large number of users

B. Public clouds can optimize resources at scale
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C. An enterprise uses their in-house infrastructure to build up a public cloud, which provides internal IT services for the
enterprise

D. Public clouds are accessible over the Internet

Correct Answer: C

QUESTION 5

Through (), you can record the operation events related to the relational database instance, which is convenient for
future query, audit and backtracking?

A. Virtual Private Cloud

B. Cloud monitoring service
C. Cloud audit service

D. Elastic scaling

Correct Answer: C
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